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Question Paper Code : Q 2708

B.E/B.Tech. DEGREE EXAMINATION, NOVEMBER/DECEMBER 2005,
Annual Pattorn — First Year
Blectronics and Communication Engineering
ECIX 02 — CIRCUIT ANALYSIS
(Regulation 2004)
Time : Three hours Maximum : 100 marks
Answer ALL questions.

PART A— (10 % 2 = 20 marks)
L. What do you mean by “the two circuits are equivalent circuit™?
State Norton's equivalent circuit,
3. Draw the response of a second order system.
4. Whatis the Laplace transform of
@ etu

®)  sinwtu)?

8. In RLC circuit what is the relationship betswoon valtage aad curront?
6. Draw the power trianle and name the different powers.

7. Define h - parametors.

8. Define coupling Co-efficient.

9. Define poles and seros

10 Define complex Fourier Series.
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PARTB — (6 x 16 = 80 marks)

 Find the oquivalent resistanco. seron. A and B in the cir

@ Fiad the squivalent Norton equivalant cireuit acrass A and B
the circuit shown in Figure 11 (a) ()
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Figure 11 i),

or
O Derive the formula for converting delta o star circuit,

@ Tiad the ' for which the masimum POWer occurs acrons the
Resistance for tho ircuit shown in Figene o7 ) i)
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Figure 11 b) Gi),
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[image: image3.jpg]‘% (@) Find the currant i in the cireuit shown in Figuro 12 (a).
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Figuro 12 (a).

or

(&) Derive the unit step response of a series RLC circuit and diseuss the
three damped condition.

(@ Find the current i in the circuit shown in Figure 18 (s,
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Figure 13 a),
or
(9 & volago 2625 | 60"V is applied to a two ~ branch parallel it n
which 3, =4

@ and z, =5 | 60° 0. Obtain the power triangles for
the branches and combine them into the total

power triangle.
(@ @ In the coupled circuit shown in Fi

igure 14 (a) find V,for which
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(i) Defino Resonance, quality factor, ©
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¢ dreutt shown in Figure 14 (b),
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Figure 14 (b)
Find Laplace transform of ¢ “u(t) and &= cos tutute) 10)

Teove that the convlution in the timo domain is equivaleat to the
multiplication in the frequency domain. ®

or

e the Fourlor transform ofa rectangulr pulse which width ST
#nd amplitude is A and plot the magnitude spestp. a0

Pxplain how the Laplace transform is used in cireuit analysis,  (5)





